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Class: 2
1). Inapond, there are 68 turtles and 25 frogs. How many total turtles. and frogs are there in the pond ?
2).  Inaschool, there are 76 girls and 22 boys. How many students are there in all?

3). There are 59 coloring pages and 20 written pages in a book. What is the total number of pages in the book?

4).  Kartik has 89 coins. Emma gave him 53 more coins to Kartik .How many coins does Kartik have now?

5). A factory makes 95 toys in six days and 23 toys in next six days. How many toys does the factory make in twelve days?

6).  Bill has 88 coins. His mother gave her 54 more coins to Bill .How many coins does Bill have now?

7). Jade bought 95 orange toffees and 52 mango toffees .How many toffees did she buy?

8). A bookseller sells 58 history and 53 story books in a day. How many books does he sell in total?

9). Alice has 92 toys in one box and 30 blocks in another box. How many toys and blocks does Alice have?

10). Eva bought 84 orange toffees and 20 mango toffees .How many toffees did she buy?

11). A bookseller sells 67 Story books and 54 colouring books in a day. How many books does he sell in a day?

12). Patrick has 86 blocks in one box and 31 pebbles in another box. How many blocks and pebbles does Patrick have?
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There were 85 chocolates and 21 toffees in a shop .What is the total of chocolates and toffees in the shop?
Trey has 78 chocolates. Oscar has 56 .How many chocolates do they have together?

A bookseller sells 59 maths and 36 colouring books in a day. How many books does he sell in total?

In a school, there are 79 girls and 25 boys. How many students are there in all?

Deepa has 90 tickets in her collection. Riddhi gave her 59 tickets more.Total how many tickets are there in Deepa collecti

now?
Charlie has 97 balloons. Patrick has 32 .How many balloons do they have together?
In a class, there are 92 girls and 31 boys. How many students are there in all?

Joe has 48 apples. Phillip has 35 .How many apples do they have together?
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